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If II.”T:"+ 2]2 +-§2—+ ..o = x, then what is
1 1 1 [0 9
-1—‘2—+-?;?+75—:3-+ ..o equal to ?
X
(@) =
4
X
(by =
2
3x
c). —
( 4
(@ x

. In an examination of a certain class,
at least 70% of the students failed in
Physics, at least 72% failed in Chemistry,
at least 80% failed in Mathematics and
at least 85% failed in English. How many
at least must have failed in all the four
subjects 7 .

(a) 3%

M) 7%

(c)y 15% ‘

(d) Cannot be deten'ninc;d due to

insufficient data

. Ifa = 0 and the line 4bx + 3¢y + 24 = 0
. passes through the points of intersection
of the parabolas y* = 4ax and x2 = 4ay,
then which one of the following is
correct ?

(@) d*+(3b-4c) =0

(b) d%+(3b+4c) =0

© d*+(@b+3c) =d?

() d®+(4b+30)° =‘0.
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4. One of the local maximum values of _

flx)= 'jrsin (r - tz)dt is
0 !

@ £(3)
® £Q)
© f(3)

(d) None of the above

- Which one of the following represents

the curve in the xy-plane passing through
the point (2, 2) and having at each of its
points the slope equal to —x2?

(a) y=x+ 1-5
(b) y=15x
() xy=1-5

(d) xy=15x+1

. Consider the following function :

f(x)___{m(xz—lx}x"]) | x<0

cos x x=20

Which one of the following is correct
in respect of the above function ?

(a) The function is centinuous form =1 _

- (b) The function is continuous for m = 0

{¢) The function is continuous for each
real value of m

(d) The function is not continuous for
any value of m




7. What is the range' of the function f(x) =
x~-[x] where [x] is the greatest integer
function ?

@ 101
)’ @, 11
© ©On /
(@ [0, 1]

8. If the lines 3x-dy+4=0 and 6x — 8y

~7 =0 are tangents to the circle, then
what is the radius of the circle ?

' 3
@

(D)

W |

3
(C). 5
3

9, The mapping f: Nx N— N .défined by

f(m, n) =%(m+ n—-1)(m+n=-2)+n is

(a) one-one-onto

®

‘one-one but nol'onto
(c) onto but not one-one

@

neither one-one nor onto

lp. If we know that cos A = —:—3— and cos B

z%'but the actual values of A and B

‘are not given, then how many. different
" values can the expression cos (A —B)

have depending on the actual values of
" Aand B?

”

L.

12.

(@ 1 -
(b) 2

(cy- 3

(d 4

Let A, B, C be distinct subsets of a
universal set UJ. For a subset X of U,

let X’ denote-the complement of X in U.

-~ Consider the following sets :

.1. (‘((AHB)UC)’ ﬂB');_Bn-c.

2. (A'NB)N(AUBUC) =" |

(AU(BUC))
Whi‘c-ﬁ of the above statements is;’_are
correct ? '
(@ 1 only
(B) 2 only
(c) Both 1 and 2

(d) Neither | nor 2

-1 :
If iﬁ is purely imaginary. then which

one of the following is cotrect ?

@ [4>1
) |of<1
© lz1=1‘ |
@ l2| =2
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13, What is the degree of the differential 16. Let S={1,2, 3, n}. If X denotes

equation the set of all subsets of S containing

exactly two elements having | as least

Py 2 a3 aty | element, then what is the cardinality
di3 +A(-£}"—] ;4[ J ? of X7 '
X LAX '

——

d .\'4

@) 4 @ n+l

) 3 ‘ o | (b)) n-1

© 2 © n{n+1)
(d 1

(d) None of the abové

4. What is lim [;‘_ﬂ]r equal to ? .
X—oo Y—6 : . . -

’ . The circle x2+y242gx+2fy+c=0
meets the axis of x-axis in two points on
@) _ 0 opposite sides of the origin if '

() 1

() el2

a) ¢>0

. b) ¢<0
(d) None of the above

Ay

. What _is the value of

() ¢=0

C(25, m) (d) f=0,and c takes any value
both numerator and denominator have

- their greatest values ? - ' )
£ : . Let A="7Z, the set of integers.

40 Let Ry={(m.n)e ZxZ : (n+4n) is

— : divisible by 5 in Z}. -

403 : LetRy={(m,n)e ZxZ :(m+9n)is

’ ‘ co- _ divisible by 5 in Z}. , :
28 ' Which one of the following is correct ?

(b) 305 : : . '

(a)

(@), Ry is aprOper siuibset of R,
143

(c) ﬁ

(b) Ryisa Iiroper subset of R,

141

() 4025 - : . : (d} R,ismnota symmetric relation on Z
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19.

20.

21.

In a triangle POR, AR::%:—. If tan(fzij

and tan (%} are the roots of the equation

ax*+ bx+c¢ =0 (a#0) then which one
of the following is correct ?

(@) a+b=c

(b) b+c=0

() a+c=b

(d) b=c

Which one of the following functions is
discontinuous in the given interval ?

@ f(x)=e", x>0

®) f(x)=|x-3], —oo <X < o0
(c)l fx)=Inx+x, 05<x< e
_(d) f(x)=sinx+tanx -m<x<n

If - the different permutations of the
word ‘EXAMINATION’ are listed as in

‘dictionary, how many items are there

in the list before the first word starting
with E ?

(a) 907100
(b 907150
(c) 907200

(dy 907250

22.

What is the number of distinct real roots

SiNX COSXY COSX
of jcosx sinx cosx|=0
COSX COSXx Sinx
) . 1 T
in the interval ——<€x€— 7
4 4

(a) None
{(b) One

(¢) Two

" (d) Three

23.

2 dy

. What is the solution of (x+y) i a?
x

where a is a constant ?

1 x+
(a) y=tan l(f——yj +c
a

by y=a tan”](-{i-)i) +c
- a_

©) }’=-l—' tan'l[x+y]+c
a

a

(&) None of the above

24.

What is the sum of all five digii numbers
that can be formed using the digits 1, 2,
3, 4, 5 when repetition of digits is not
allowed 7

(a) 366000

(by 660000

(cy 3999960

(d) 499994500

A - P-FPEN-L-ZNG




25. The arithmetic mean between two num-
bers b and ¢ is ¢ and b, g, g,, ¢ are in

geomietric progression. If 313 + gg = kabc,
then what 1s the value of ¥ 7 -

(@ 1
(®) 2
(cy 3
(d) 4
26. What is the n™ term of the scries
3+T7+13+21+ .. ? '
(a) n%+2 |
(b) W+l
(¢) n’+2n
(d) None of the above
27. What is the sum of n terms of the series

cot™! 3 + cot™! 7 + cot113 +
cot™l 21 + ... 9

(b) tan ™

] ST
(a) tan [n—Z)

(c) [An“l(n Al 2)
n

-

—f
@ tan (n-i—?)

NOTE : FOR THE NEXT 02 (TWQ) QUES-
TIONS THAT FOLLOW :

Consider the curve 2x2 + y? - 2x = ().

28. What is the point on the curve so that

" its distance - from the point (¢, Q) is
maximum ?

P-FPEN-L-ZNG - A

29,

30.

What is the maximum distance 7 (with
respect to above question) ’

(a)_m
® Vi-2c+¢7
(c) m
@ Vi+2c+2e2

Consider the following statements :

1. Every grodp of four elements is
abelian. ‘

b
2. M,(R) ={(j d) ra, b, ¢, de R}

1s a group under muitiplication.

Which of the statements given above
15/are correct 7

(a} 1 only
(b)) 2 onl-y

_ }
(c) Both [.and 2

(d) Neither 1 nor 2




NOTE : FOR THE NEXT 62 (TW0Q) QUES-

~

TIONS THAT FOLLOW :

Consider the inéquality

3¢ vt J9y? — 6y +2< | where x, y g {0, 10]

31.

32.

33.

How many values of x are possible ?
(a) 1

M 2
© 3 .

(d) 4

How many values of y are possibl'e' ?
(@ 1
(b) 2

© 3

“(d): None of the above

What is the solution of the differential
equation
dv

XCOSX (—1)-] +y(xsin x+cosx)=17
dx

(a) xy=sinx+ccosx
(b) xycosx=tanx+c¢

(c)

Xy+sin x +c €os x

(d)

XVCOsSX=x+¢

34.

3s.

36.

- (¢)

If the equation to the normal to the
curve x2+y% =35 at the point (-1, 2) is
y = mx, then what is the value of m?

(a) 1

() 2

| {c) -1

»

d -2

(—1+f4§)15 . (—1—:\/5)}5
(1-1)* (1+:)%°
gquai to?

What is
(a) -32
(b) 32 ,
—64

(dy o4

—
Let "c?, b be the position vectors of the
points A, B respectively. f C is a point

.on AB produced such that AC =3(AB),

~ then what is the position vector of the

point C? .

@ 2a-3b
&) 3a-2b
© -2a+3b
) -a+2b

A - P-FPEN-L-ZNG




NOTE : FOR THE NEXT 02 (TWO) QUES-

TIONS THAT FOLLOW :

Consider the function f, defined by -

£y =1(-1) (- 2)ds
0

37.

38.

The function has minimum value at
(a x=0
b)) x=1
©) x=2
(d) x=3

What is the minimum value of the

function ?

28
(a) T

17
(b) T
(cy 0

(d) None of the above

NOTE : FOR THE NEXT 02 (TWQ) QUES-

39.

TIONS THAT FOLLOW :

What is the value of -

A5l 3 (5]
e

o wfZ)

o -n(F)

.(d) sin(%’ﬁj

P-FPEN-L-ZNG - A -

40. What is the value of

41.

Y

cos{ — |cos| — |+cos| — [cos| — |+
7 7 7 7

cos| — |cos| — { ?
7 7

A bag contains 10 white *and 15 black
balls. Two balls are drawn in succession
without replacement. What is the proba-
bility that first is white and the second is
black ?

(b)

(c)

ol hAl— 8-

1
dy —
(d) v

NOTE : FOR THE NEXT 02 (TWQ) QUES-

TIONS THAT FOLLOW :

Consider the function

f(:r)=Jx+2J2x—4 +Jx—2m

42. What is the domain of the function ?

@ @ )
b)) 2, »)
(€) (=00, oo}
(d) [2, 4]




43,

44.

45.

S

f(x) is differentiable on

@) @ w)-(4)
®) 2 =) (4]

©) 2, o)

@d @ )

Let f: [ , oo)—)[O,'3] be defined by
3,\

. Then the function f is
l+x _

{a) one-one onto

(b) one-one but not onto

(¢) onto but not one-one

(d) neither one-one nor onto

Consider the following :

I.LIfR={(a, b)) e NXN: a divides

b in N} then the relation R is

reflexive and symmetric but not
transitive.

2.If A={l, 2, 3, 4, 5, 6} and

R={(S;, 53): 5. S, are subsets of .

A S ¢ Sy}, then the rélation R'is

not reflexive, not symmetric and
not transitive.

Which of the statements is/are correct 7~

@ | only

_ {b) 2 only

(c) Both | and 2

e {(d) Neither i nor 2

- 46. (22 = 3x + 1) (22 + Sx+1) = 92, then

the equation has .

(a) two rational and Ewo irrational roots
(b) four rational roots

(¢) four irrationat roots

{d) two real and tﬁo im'aginary rools

47, If 1, = [e¥cos x dxand I, = [e* sin xdx,
then what is 1, — I, equal to ?.

(a) e*sinx+c L,
(b) e‘cosx+c

(c) 7—e‘sinlx+c.

(d) ~e¥cos x+c

where ¢ is constant of integration

T

NOTE': FOR THE NEXT 02 (TW0) QUES-
TIONS THAT FOLLOW:

A box is constructed from a rectangular metal
sheet of 21 cm by 16 cm, by cutting equal
squares of sides x (in ¢cm) from the corners

- of the sheet and then turning up pro_;ected
. portions.

48 For which one of the following values of
X w11] volume of the box be maxxmum ?

{a) 8
(b) 3 |
(¢) 35

(d)y 11-5

A - P-FPEN-L-ZNG




49. What is the maximum volume ? (with
reference to above question)

(a) 450 cubic cm
. {b) 400 cubic cm
(¢) 350 cubic cm

(d} 300.cubic cm

. If A, B, C. D are four points in space;
then what does the magnitude of

e e e B |
ABXCD+ BCx AD+ CAx BD
represent ?

(a) Four times area of triangle ABC
(b)
. ()

Three times-area of triangle ABC

-Four times area of parallelogram
ABCD

(d)
- ABCD

e )
Let a, b, ¢ be three non-zero vectors
so that no two of them are collinear. If

H
71)+5::_> 1s collinear with 4 and 37;+ 5(?

51.

.. . . - — - -
is collinear with a, then @+3bh +5¢c

equals to which one of the following for
some non-zero scalar m ?

(a) m?
_)
() n_wb
(c) .'IHE)
| -
@ 0

P-FPEN-L-ZNG - A

Three times arca of parallelogram

10

NOTE : FOR THE NEXT 02 (TWO) QUES-

TIONS THAT FOLLOW :

Given :

Si(x) = x +x 1 and £ (x) =

xz. x<0
O0=<x=x1]

X,
Ls lﬁxﬁoﬂ c
X .

Consider H(x) = max(f,(x), f,(x)} and

52.

53.

G{x) = min{£(x), fo(x)).

Consider the following statements :
Over the interval (-fl_—'ﬁ, 1+\/§)

1. H{x) is continuous.
2. G(x) is continuous. .
Which of the statements is/are correct ?-
(@) 1 only |
(b) 2 only
(¢c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

. Over the interval (—:l—ﬁ, 1+J§)

1. H{x} is differentiable.
2. G(x) is differentiable.
Which of .the s_fatemcnts ts/are correct ?
@ 1 only
(b) 2 only
‘(c) Both 1 and 2
.(d) Neither | nor 2




NOTE : FOR THE NEXT 02 (TW0O) QUES- 57. Which one of the following lines passes
TIONS THAT FOLLOW: through the reflection of the point ?

Consider the curves () x+13y=39
y=.x2+2,y=—.\',x.=() and x=1. (b) I3x+4y=_0

54. What is the area bounded by the curves ? () 10x+3y+1=0

(a) 7 square units (d) None of the above
y 3 -

58. Consider the following statements :

(b) 242 square units .-
: o 1. If G is a group of even order, then

(© 17 square units a* = e for some a€ Gla#e).
6 .

2. In an abelian group, every element
11 . is its own inverse.
(d) -— square units' ‘. : .
6 Which of the above stateménts is/are
‘ correct ?
. 55. If the area bounded by the curves above
x-axis is & times the area bounded by
the curves below the x-axis, then what (b) 2 only -

is the value of k2 \ ,
Is the value 0 (¢) Both 1 and 2

(2) 1 only

(a) —;— (d) Neither 1 nor 2
o 1 - _ NOTE : FOR THE NEXT 02 (TWO) QUES-
3 - ' TIONS THAT FOLLOW :
) 2 o ‘ Consider the following determinant D :
@ 3 p a pa-gq
o D={gq r qgo—r
NOTE : FOR THE NEXT 42 (TWQ) QUES- 12 4 o
TIONS THAT FOLLOW :
Consider a poini (4, -13) and the line 59; If q2 # pr, for what value of o will D
Sx+y+6=0. become zero ? ‘
56. What is -the reflection of the point @ 0.
(4, —13) about the line 5x+y+6=07? ® 1
(a) (-13,4) - !
() (4, -13) © 3
(¢) (-4, 13) o 1
. d) -=
(d) (-1, -14) : 2

11 . " A = P-FPEN-L-ZNG




60.

61,

62.

(b)

If D=0 and o # 312-, then which one of
the following is correct ? ‘

(a) p, g, rarein AP

(b) p.gq. rarein G.P

© pgr are in H.P

(d) None of the above

The equation |z+1—i|=|4.:-1+f| repre-
sents a

(a)

straight line passing through the
origin

circle passing through the origin
(c),
(d)

straight line” passing through (1, ~1)

circlg passing through (-1, 1)

If f(x)=2sin’x~3sin®x+12 sinx+5,
0sxs ™
2

, then f(x) is
(@) decreasing in [0, Ejl
(b)

: . 7T
increasing in | 0, 5

and

(¢)

increasing in | 0, Y

NS I A 4
decreasing in [-Z, —}

(d) decreasing i'n'[(), %} and

mcereasmg in z: -

P-FPEN-L-ZNG - A -
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63.

Let me N and

. S=C4m, 1)+ 3C(4m,3) + 5C(4m, 5) +

64

3
c) 6
9

. Let

(d)

..... +(@m - 1) C (dm, dm -1).
Which one of the following is correct ?
(a) S is always odd
(b) Siseven .and is mu.ltiple of 4
(c) S is even but is not multiple of 4
(d) None of the above '

d7y _ ky

If x=
dx?

T dt
— and
{'Jl +9¢2

then what 1s the value of £ ?
(@) 1
(b) 3

(d)

F(x) be the indefinite integral of
sin®x.
Consider the following statements :

1. For all x € R.. F(x} satisfies
F(x+m)= F(x).

2. For all x & R, sin®(x+7) = sin%x.

Which one of the following is correct
in respect of the above two statements ?

(a} Both the statements are true and
statement-2 is the correct explana-

tion of statement-1

Both _the statements ‘are true but
statement-2 is not the correct expla-
nation_of statement-1

(b)

(<)

Statement-1 is true but statement-2
is false -

Statement-1 is false but statement-2
is true




-

NOTE : FOR THE NEXT 02 (TWQ) QUES-

TIONS THAT FOLLOW :

3 six faced dice are thrown together.

66.

67.

68.

What 15 the total number of elementary
events associated with. the . random
experiment 7

{a) 18

(b) 36
(@)

108
(d) 216

Whalt is the probability that the sum of

the numbers. appearing on the dice is

where 0 k=<8 7

2
(a) R_
. 432
)
b
. 432
o kDE=2)
. 433
@ ME=D=2)
. 432
What is lim 128X equa) g9
x_—)% (m—-2x) ‘
@ 1
. l.
('b). >
I
(c) 1 )
1
8

(d)

13

- 69,

70.

71.

@

-3 _y=4 5_2_5 lies on
3 -4 '

the plane kx + 4y ~3z-3=0, then what
is the value of k7

@ 1

by 2

© 3

@ 4 -

If the line

The value of sin @(sin 8 +sin 36) is

non-negative for all non-negative g
only ’

(b)
(c)
(d)

non-positive for all real g
non-negative for all real g

None of the above .

Consider the following statements in
respect of the system of linear equations
X+ 2xy 4+ xy =0, le +3xy + x4 =0 and
4x; + 8xy + 4x, =0 over the set of real
numbers : |

-

1. 1If A is the matrix of the coefficients
of the above system of equations
then A is singular.

2. The above system of equations has
no trivial solution.

Which of the above equations is/are
correct ?

(a) 1 only

(b) 2 .only
-{c) Both 1 and 2

(d) Neither 1 nor 2

A - P-FPEN-L-ZNG




72. The mean and variance of 10 numbers 75. What is the sum up to n terms of the
- were calculated as 11-3 and 3-2 respec- series 7’
tively. It was subscquently found that
one of the numbers was misread as 10 _ I
instead of 12. How does the variance : (a) - -
change ? | o . n(n +1)
(a) Variance decreases
s ) n
(b) Variance increases .(®) (n +1)
{(c) Nothing can be said about variance
(d) Variance remains unchanged : (©) 1
‘ n .
73. The locus of ‘a point in ‘3-dimensional .
space for which x=ais - n+l
o . d) ——-
(a) a plane parallel to the xy-plane ne.
(b) a plane parallel to the yz-planc , ‘ .
' 76. If the coefficients of x” and x3 are equal

(c) a plane paralle! to the zx-plane

“in (1+x)", then what is n equal to ?
(d) a line perpendicular to the yz-plane

' (a) 15
NOTE : FOR THE NEXT 02 (TW0O) QUES-
' TIONS THAT FOLLOW :
, s () 20
Consider the series @) 30

(d) None of the above

74. What is the ntP term of the series ?

N3 NS
1 ' 77. If z = By B} den
| s . which one of the following is correct ?
_ ) ) ’ .
) n{n+2) (a) Re(2)=0
n ' () _Im(z)=0
© (m+1) - :
: (c) Re(x)>0
@ n+l N

n " (d) None of the above

P-FPEN.-L-ZNG - A - 14




- 78.

79.

What is-the value of
7r2 .
f (cos)x| + sin|x{) dx ?

-1/2

(@) 2

(b) 3
(c) 4
d) 0
What is the standard deviatioﬁ -of the
set of observations 32, 28, 29, 30, 31 7
(a) 1-6

). V2

80.

81.

© 2

7 (d) None of the above

2 dx -
What is I ' Six T equal to ?
-rf2
(a) 0
() 1
.o
(c) 5
. e
@ = '
The three points with position vectors

T . o ,
a, b, ka—2b are collinear, if k is equal

to

(a) 3

by -3

(c) 1

(d) None of the abovei

15

. 82 Tangents from a point P are drawn to a-

circle x2 +y? = k> which meet the circle
in points () and R. Normals at Q and R

meet in the point M. The points P, Q, M

and R lie on

a) a pafabola

(b) .a.hyperbola .

(c)  an ellipse

" (d) "a circle. : )

83.

84.

Each year during 'a period of 7 years,

Ganga, a cow, gave birth to a calf. What
is the standard deviation of the ages in

. whole years of the 7 calves of Ganga ?

(a) 2 year-s
(b) 4 years
(c) 7 years

(d) C_annot be - calculated unless the
present ages are known

_Consider the following frequency distri-

bution :
Class | 0-10] 10-20120-30 | 30-40 | 40-50 .

Frequency} 10 15 | =x 15. 10

A

where x is the unknown  frequency.
However it is known that 25 is both the
arithmetic mean and the mode of the

- frequency distribution. Which one of the -

following is correct ?

1

(a) x=15 7
(b} =x is any non-negative integer

()

x is any positive integer greater
- than 15

One- cannot. place any restriction
on x

(d)
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85.

86.

87.

For nevents A, Ay, Ag,~..... Ay, consider
the following :

P(UA) = SP(A) - SP(4;4;)

i<j
2. P(UA) < ZP(A)
Which of the above is/are correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2 .
(d) Neither 1 nor 2-‘
Let a random variable have a symmetri.c_
Binomial distribution with # =35,
Céhsider the following :

1. The mean is 2-5°

2. The variance is 1-25 _
Which of the above is/are correct ?
(a) 1only ' i
(b) 2 only
(©) Both 1 and 2

(d) Neither 1 nor 2

If A and B are two events such that
P(A)=0-3, P(B)=0-4 and P(AB)=0.2,
then what is the value of P(A|B) ?

(a}

B w

(b}

A

(©)

(d)

L e wr]—
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. A function fis defined by f(x)=——

88. The equation ydx—(x+xy)dy=0 is

multiplied by a function f(x) so that the
left hand side can be expressed as
derivative of some function of x and y.

What is f(x) equal to?

(a} x!

) x72

{c) x

(d) x?

a

dx

. What is‘the vialue of | ————e=— 7

£x+«fa2 -x2 .

(a)

(R

(b)

&8

{c)

|8

(d) =«

Wthh one of the followmg is correct ?

(a) - The function is differentiable every-
where

(bj The func;ioh is differentiable every-
where except at x =}

(¢} The function is differentiable every-
where except at x =0

(d) The function is not continuous




NOTE : FOR THE NEXT 902 (TWQ) QUES-
“TIONS THAT FOLLOW :

A vertical pole subtends an angle of tan"'(é—)

at a point P on the ground. The. angleé sub-

tended by the upper and lower halves of the
pole at P are ¢ and [ respectively.

91 Which one of the following is correct ?
(8) tana = tan §
(b) Stano = 4 tan B
() dtanc = Stanf |
(d) 9tan @ = 8rtan f

]

92. What is tan(ff -~ ) equal to ?

@ 0

o 2
) -
.(- _l”
C) 5

@)

gl

93. Two dice are lhrown to"ether Let A and
B bettwo events

A : even number on both the dice

B number on first die exceeds the
number on the second die

What is P(A[B) equal to ?

(a)l

]

 (b)

i -

- {c)

@ =

LeJ. cOs X

- NOTE : FOR THE NEXT 02 (TWO) QUES-

TIONS THAT FOLLOW :

dx=m(x+a)+
cos(x +a) (x+a) .

n ln‘[sec:(x + a)|+c

where m and n .are constants and ¢ is the
constant of integration

94, What is .m equal to ?
- {a) sin a

(b) cos a

(c) tan a

(d) cota

95, What is m? 402 equal to ?
(@ 4 '
(®) 3
(c) 2.
@1

- 96. A coin is tossed until two consecutive
heads are obtained. The sample space of
the random experiment has .

(a). no points )
~ (b) finite number of points ‘ |
(c) countably infinite number of points

(d) uncountably infinite number of
points '

97. What is the number of dlfferent ways of

dlstnbutmg 2 distinguishable balls into

" three cells without any restriction (that is

“each cell being free to receive any
number of balls) ?

@ 9 o
(b) 6 . . ‘,
() 4 |

d@ 3
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98, If for a set of observations, the mean
and median are 8-3 and 8-5 respectively,
what is the value of the mode ?

(2) 83
(b) 85
(¢) 89

(@ 92

99. Consider the following statements :

1. NUBNZ) = (WUBNZ for any
subset B of R, where N is the set
of positive integers, Z 1is the set
of integers, R is the set of real
numbers. '

2. Let A={nEN: 1=n<s24, nisa
multiple of 3}. There exists no

subset B of N such that the number
“of elements in A is equal to the
number of elements in B.

P-FPEN-L-ZNG -~ A
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100.

-(a) (‘—2, %’-,

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only.

{¢) Both | and 2
()] Neither-l ncjr‘2

What is the mid-point of the “chord
intercepted by the straight line

XLy _ 2 omthe sphere -
I 2 -1 - '

x4yt +72=187
2)
® 34 -3)
© (-1, -4, 1)

@ & -% -3




SPACE FOR ROUGH WORK
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